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return TRUE
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return FALSE
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substring 115

L: { $'EW‘TV\ Q [.Qnta»'?m?m
A 3
= (EeD* 11 (o5

state = G;MA ) \'a_s't_'Z\ ConTaINs11(w[1..n]):
7\ }\‘ fourgd — FALSE o (qet2e-¢
fori —1ton
_ 2 = 4 ifi=1
ril—\ 3{;3&62] last2 — w[1]
else
last2 «— w[i—1]-w[i]
if last2=11
found « TRUE
return found
q 6[q,0] 6(q,1] q 5(q,0] 6(q,1]
(FaLsi,e) | (FALsg, Q) i (FALSE, 1) (Trug,¢) | (TRUE,Q) | (TRUE,1)
(FaLsE, 0) | (FALSE, 00) (FALSE, 01) (TrRUE, Q) | (TRUE,00) (TrRUE, 01)
(FaLsE, 1) | (FALSE, 10) (TruE, 11) (Trug,1) | (TruUE,10) (TrRuUE, 11)
(FALSE,OO) (FALSE,OO)(FALSE,Ol) ...... (TRUE,OO) (TRUE,OO)(TRUE,Ol)
(FALSE, 01) | (FALSE, 10) | (TRUE, 11) (TrRug,01) | (TRUE, 10) (TRUE, 11)
(FALSE, 10) | (FALSE, 00) (FALSE, 01) (TruE, 10) | (TRUE, 00) (TRUE, 01)
(FaLsg, 11) | (FALSE, 10) (TRUE, 11) (TrRug, 11) | (TRUE, 10) (TRUE, 11)

Our brute-force DFA for strings containing the substring 11
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